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CP Calculus Extra Practice 
1. Given the graph f(x), find f '( 1 )  

 
 
 

 
 
 
 
 
 
 
 
 

 

2. If f ( x ) sin x  for all x, then the value of the derivative  f  ' (x)  at x
3


   

3. Find 2d
{sin( x 3x 4 )}

dx
   

 

4. If 
3

(x + 1)(x - 2)
y =

(x - 1)
, find f’(x) 

 

5. Find the first derivative of f(x) given that 
( x 1 )( x 2 )

f ( x )  
( x 3 )

 



 

6. If f  ' (x) = -f(x) and f(0) = 1, then f(x) = ?  
 

7. The slope of the line tangent to the graph of sin xf(x) = e  at x=0 is 
  

8. If 2f(x) = x cot x  then 
dy

dx
is 

9. If 
x 1

f(x) = ln{ } for all x 1
x 1


 


 then f '( 2 ) is 

 

10. If 5 dy
f(x) = sec ( 3x ), then  is

dx
 

 
11. If 2/3 1/3f(x) = (x - 1) (x + 3)  for all the x, then the domain of  f  ' (x) is  

  

f(x) 

(-1, -5) 

(1, 14) 
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12. If
n

x (n)
n

d y
y = xe  , then = f (x) =

dx
 

 

13. If
dy

tan(xy) = x , then =
dx

  

 

14. If
1

x dy
f(x) = 2  , then =

dx

 
 
   

 

15. If 2 3 dy
3y - 2x = log(x - y ) , then the value of   at (3,2)

dx
 

 
16. If f(x) = ln{ln(lnx)}, then f  '(x) =   

 

17. If xy = x , then find f  '(x) using "logarithmic differentiation"   

18. If 2 3f ( x ) ( x 1 ) ,then the SECOND derivative of  f(x) at x = 0 is    
 

19. If 
2

2

x 1 dy
y ,then 

dxx 1


 


  

 

20. Find 
2

2n ( )

4n
lim

3n 5n 6 


 

  

 

21. If  
x ( )

x 1 x 1
lim

x 

  
  

 

22. If  
x ( )

x
lim

x 1 x 1    
  

 
23. The position of a moving particle on a straight line at any time, t, is given by

s( t ) 2 sin( t ) 3cos( t )    What is the acceleration of the particle when t=3 seconds? 

 

24. If 
3x + 1 - x + 3

f(x) =
, for x 1x - 1

f(1) = k


 


, and f(x) is continuous at x=1, then k= 
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CP Calculus Extra Practice 

1. Given the graph f(x), find 
14 ( 5 )

f '( 1 )
1 ( 1 )

 
 

 
 

 
 
 

 
 
 
 
 
 
 
 
 

 

2. If f ( x ) sin x  for all x, then the value of the derivative at x
3


 

1
f  ' (x) = - cos(- )

3 2


   

3. Find 2 2d
{sin( x 3x 4 )} ( 2x 3 )cos( x 3x 4 )

dx
       

 

4. If 

dy
siny = lnx,  0 < x < π, what is  in terms of  x and y?

dx
1

y' =
xcosy

 

 

5. Find the first derivative of f(x) given that 

( x 1 )( x 2 )
f ( x )  

( x 3 )

1 ( x 1 )( x 2 ) 1 1 1
f' =  ( )

2 ( x 3 ) x + 1 x - 2 x + 3

 




 
 



 

6. If -xf  ' (x) = -f(x) and f(0) = 1, then f(x) = ?e  
 

7. The slope of the line tangent to the graph of sin xf(x) = e  at x=0 is m f '( 0 ) 1   
  

8. If 2f(x) = x cot x  then 
dy

dx
is 2 2f ' 2x cot x x csc x   

9. If 
x 1

f(x) = ln{ } for all x 1
x 1


 


 then f '( 2 ) is

1 2
f '( 2 ) 1

3 3
     

 

f(x) 

(-1, -5) 

(1, 14) 
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10. If 5 dy
f(x) = sec ( 3x ), then  is

dx
55 3

f ' tan( 3x )sec ( 3x )
2 x

  

 
11. If 2/3 1/3f(x) = (x - 1) (x + 3)  for all the x, then the domain of  f  ' (x) is

1 / 3 2 / 3

1 / 3 2 / 3

2( x 3 ) ( x 1 )
f '

3( x 1 ) 3( x 3 )

D : x 1; x 3

 
 

 
  

 

  

12. If
n

x (n)
n

d y
y = xe  , then = f (x) =

dx
x xne xe  

 

13. If
dy

tan(xy) = x , then =
dx

 
2

2 cos ( xy ) y
sec ( xy ){ y xy'} 1 y'

x


     

 

14. If
1

x dy
f(x) = 2  , then =

dx

 
 
 

( 1 / x )

2

{ln2 }2

x
  

 

15. If 2 3 dy
3y - 2x = log(x - y ) , then the value of   at (3,2)

dx
2

2 3

2x 3 y y'
6 2 ln10x y

3 y' 2 y'( 3 )
ln10 12 3 ln10


   


 

 

16. If f(x) = ln{ln(lnx)}, then f  '(x) =  
1

f '
x ln x{ln[ln x ]}

  

 
17. If xy = x , then find f  '(x) using "logarithmic differentiation"  xf ' x { 1 ln x }   

18. If 2 3f ( x ) ( x 1 ) ,then the SECOND derivative of  f(x) at x = 0 is   f ''( 0 ) 6  
 

19. If 
2

2 2

2

22

x 1 dy
y ,then 

x 1 x x

x 1 x 1 x 1dxx 1


      

   

 

20. Find 
2

2n ( )

4n
lim

3n 5n 6 


 

 
4

3


  

 

21. If  
x ( )

x 1 x 1
lim

x 

  
 0  

 



CP Calculus 2nd Quarter Review  24 Multiple Choice Questions  Name:__________________ 

2012‐2013	 Page	3	
 

22. If  
x ( )

x
lim

x 1 x 1    
    

 
23. The position of a moving particle on a straight line at any time, t, is given by

s( t ) 2 sin( t ) 3cos( t )    What is the acceleration of the particle when t=3 seconds? 
2 2 2s"( 3 ) 2 sin( 3 ) 3 cos( 3 ) 3         

24. If 
3x + 1 - x + 3

f(x) =
, for x 1x - 1

f(1) = k


 


, and f(x) is continuous at x=1, then k=1/2 
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